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1. If 4 objects are numbered 1 through 4, how many ways can you select 2 of them? Show all the possible pairings here. Then compute C(4, 2) by using the formula in the Pascal’s Triangle program. Does it match the number of selections?

2. What output is displayed when you execute the given Pascal’s Triangle with 5 as the number of rows to display?

3. On what line is the cursor positioned now? Give the code statement.
4. What is the value for nrows shown in the variables window?

5. Does the output have the title: TABLE 1: THE FIRST 5 ROWS OF PASCAL'S TRIANGLE?

6. What line are you on now, give the C++ code statement?

7. When you changed the positioning of the comment delimiters, did any changes occur to the commented text? This depends on your development environment--describe what happened, if anything.

8. Does the title now show up on the screen?

9. How many rows of Pascal's triangle are displayed?

10. What values of n and k are in the variables window?

11. What are the values of n and k?

12. Now what are the values of n and k?

13. What value does n have in the variables window?

14. What value does product have in the variables window?

15. What is the value listed for comb?

16. Is your Pascal's Triangle correct (for nrows = 5)?

17. Do the results look OK when you input 13 for the number of rows?

